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On 27 June 2018, Arianna deposited RM3,000 in a savings account that offered a simple
interest rate of 3.5% per annum. Find the amount in her account on 10 October 2018 using

Banker's Rule.
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A loan of RM300 will become RM333.75 after a certain period of time. If the loan is charged
a simple interest rate of 7.5% per annum, find the number of days using Banker's Rule.
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QUESTION 1

On 20 February 2016, Encik Basri took a personal loan of RM6,000 from a bank that
charged a simple interest rate of 8%. Find the amount paid on 15 June 2016 using Banker's
Rule.

(5 marks)
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On 11 January 2016, Igbal deposited RM5,000 in an account that offered r% simple interest
per annum. If the interest eamed on 16 April 2016 was RM45.38, find the value of r by using
exact time and exact simple interest.
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QUESTION 2

Harraz had saved an amount of money in an account that offered 2.5% simple interest per
annum. If the interest eamed after three years was RM553.80, what is the accumulated
amount if he leaves the money in the account for another 7 years?
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QUESTION 1

Kevin invested RM4,000 in an investment scheme on 18® October 2016. The investment
offered a simple interest rate of 5% per annum. By using approximate time and exact simple
interest, find the total interest received on 20" December 2016.
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QUESTION 2

Shiela had saved RM3,000 in an account that offered r% simple interest per annum on 20

March 2015. If the interest on 6 June 2015 was RM50, find the value of r using Banker's
Rule.
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QUESTION 2

RM8,000 was deposited on 27 November 2014 into an account at a simple interest rate of
2% per annum. Find the amount in the account on 15 January 2015 by using the exact ime
and exact simple interest.

(7 marks)

g
P<Bo00 I v fF

Fedd IS Jua 0T (mdrndydek)

8= P(;frt)

= 80"0(11‘ 0-0.\(4&())
15 Jen AN = ). M,M

Hob

37t off (30-33)< 3
7tbc ! T A

December 2015
QUESTION 2

On 10" February 2015, Shakirah saved RM12,000 in an account that pays simple interest

k% per annum. The balance in the account on 11" May 2015 was RM12,240. Find the value
of k using the Banker's Rule.
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